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ZOOLOGY
Statement (S) : Linnaeus system of animal classification is essentially an
artificial system, yet it has become a natural system.
Reason (R) +  Similarities forming the basis in Linnaeus system are

indicative of genetic relationship.

J'ﬂ’ Both (S) and (R) are true and (R) is the correct explanation to (S)

(2) Both (S) and (R) are true, but (R) cannot explain (8)
(3) lCl'r:nl:,.r (8) is true and (R) is not true
(4) (8) is not correct and (R) cannot explain (S)

aang (S) : sod SB¥SnH Sowodold BRahs 58 ol a'a@m s68
Ewﬁaﬁ*dg e Sive CSEPF EreDeoB X8,
sdmss (R) . @ sy Woddgﬂam& Srnod 2%0Fw 03, a8 udﬁﬂ

suvergr i,

S (S) DBt (R) Ded, £6am (R) (8) 8% 3 dS0w

(2) (S) S8c% (R) Dedw, =2 (R) (8) & 6m DSbosd
(3) (8) SrFd Dese Hoak (R) Jzds =
(4) (8) ZbwonsSs i SHban (R) (8) & &6 ASboTEs:

a2

The natural selection that acts against change in the form and keeps the popu-
lation constant through the time is :

(1) Directional (2) Disruptive

(3) Not acting v Stabilizing

1598 Stmo erded® Srdned J380%om SNTIE ef eorged wofdhdod®
?gﬁ'unﬂ aovhsd

(1) Srgawd 2) 2opBss
(3) ([Sersss 80 T o

43.

Lepas, Limulus, Lepisma and Scolopendra have jointed appendages. Which of the
below given set of organisms are aquatic and respire through gills :

(1) Lepas and Lepisma Lepas and Limulus

(3) Limulus and Scolopendra (4) Scolopendra and Lepas .

B3, Dangel, 8Ly Hoaw Fyoogre 4K Ko adrofisves KDALY
dpen. S (808 T D Sdvoratsp 2o medUsuen Hddk AxE)e
craoe eedfatd e

(1) B85 & 8y o 555 & Daugol

(3) O3wgel & Py o (4) Do & 855
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The animal as an adult secondarily acquires radial symmetry when its bilaterally
symmetrical larva metamorphuses is :
(1) Polygordius (2) Gorgonia udf Gorgonocephalus  (4) Pila

47.
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A triploblastic pseudocoelomate, bilaterally symmetrical human parasite which is
oviparous and the transmission is by contact. It is :

(1)
(3

Filarial worm .Aﬁ Hook worm
Palalo worm (4} Tape worm

B508, AmeftRE RE, o3y P uSdn SOAS woSleSy dSrIS Sod) .
82, &0 Sofoe eKe (contact) Sed wHHH. &8 ¢

(1) poand pH& M 5ol Hos
(3) ne=é® Heorh (4) &3 HOHH
s In pheretima, the lateral hearts that connect the supraocesophageal blood vessel
with ventral blood vessel are located in these segments :
{1y 7 and 9 {2) 18 and 19
(3) 14 and 15 v 12 and 13

20ESrE® wergie CE Y S0Gk a88 TETTY SOD drdy drySare

o

- polddued® dodd

(1) 7 S8k 9 (2) 18 Hdakw 19
(3) 14 S8ake 15 T 12 S8ass 13

43,

Identify the correct statements regarding the nuclei of vorticella :
(a) Both macro and micro nuclei are diploid
{b) Macro nucleus is diploid and micro nucleus is haploid

{e)

The male and female pro-nuclei are haploid

(d) Both pronuclei are diploid

(e)

Zygote is diploid

Bo& &R6° Sher Towwoeh Iowedold TS ergwgeds hEodds
(@) S 805 ;.a:-gé SoEwes Spaniias
(b) M;tl Bosan HyohhBy Kb ‘.:n;_.g dosEsn DILE

(c)

S Hbaks & (SBoswes o¥tay
b

(d) Bodkh o ﬁﬂnﬁ.wﬂs

(e)

ooty Heaw ﬁscﬂ.mﬁi

(1) a, b, e (2) b, c, e

(3) a,d, e oM a c e
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Match the following with reference to Pheretima :
Set I Set I1

(a) Spermiducal funnels 1. 200-250

(b) Ring vessels 2. 17 and 19th segments

() Exo-nephric nephridia 3. 12/13th segment

(d) Accessory gland 4. 10, 11, 12 and 13th segments
(e} Ovary 5. 10th and 11th segments

20Lars SowoBodd G 308 SUD mERRERSL
Cadalt L | Do~ 11
(@) Wwi¥arery Horwses 1. 200-250
(b) Seas &Y Ires 2. 17 S8ckw 19 polecen
{e) geaPs ST : 3. 12/13 zoldss
d) ohwof |Hod 4. 10, 11, 12 £68c%: 13 sodesw
(e) ?; Eusf®yss 5 10 S:8am 11 poleren
Correct set is :
G0 TOE D¥dop:
(1)~ n—>5, b—1, c—4, d—2, e—3-

S a—5, b—4, c—1, d—2, e—3 "

(3) a—1, b—5, c—4, d—2, e—3
4) a—5, b—1, c—4, d—3, e—2

The sclerite that covers the top of the head and the space between the two compound

eyes in Periplaneta is :
(1) Clypeus (2) Labrum @7 Vertex (4) Genae
DO T So Prrhidn SH0k Jok Joany S HEy so Jovdy eSbam

-

He ?ﬂrﬁﬁf:
() 3%asf ) tass A Soas 4) doven

The type of mouth parts found in the insect that is known to spread Myiasis

s :

..dﬂ. Sponging and sucking (2) Piercing and sucking
(3) . Biting and chewing (4) Siphoning
Dbl aoboddan du¥y sve oo oS

Hhodd Sresg (2) sy B8

(3) 5788 HE (4) msiy



LA\

The enteronephric nephridia in Pheretima consists of the following parts :
(@) A nephrostome

(b) Terminal nephridial duct

(¢) Septal excretory canal

(d) Supra-intestinal excretory canal

(e) Long thick walled excretory canal

20E8rE" o dpmper S B0 grrred §OA Aol
la) &%, Swwo

(b) &S5 emﬁg::“‘fﬂ _1

() wl;‘"i-.-ﬁ L1 1 5...&3

(d) wogrgold ETE v

(e) "*vdm. SYEE Alde: go IO oESn

Which of the above are found in the enteronephric nephridia in 4, 5 and 6th
segments ?
BRET A 4, 5, 6 polered? So soF Sywest s oSS

o ®), (@ (@) (a), (o), (d), (e)
(3) (), (d), (e) (4) (a), (e), (d)
Abdominal ganglion in cockroach is nofgfound in this segment (s) :
(1) 2 and 3 (2) 4 ) B (4) 6
G 80¥E" G poldESn(w)E* ass ;4 Jo& aoGEm
(1“2 Soaw 3 2 4 w5 (4) 6
55. Match the following :
Set I Set II

{a) Olfactory sensillae
(b) Peritrophic membrane

Ommatidium
Diurnal insects

1.

2.
{c) Cibarium 3. Food bolus
(d) Rhabdome 4. Hypopharynx
(e} Apposition image 5. Maxillary palp

B0 AR 8d Jondn
Sdx 1 " =85 11

(a) La_’:,.?inm?: oees 1. a&ééfc&ﬂ
() 2BEmHE Sz 2. 8edd desen
©) HEddbo 3. w3gd S8
d) o=&S 4. oz  °
(&) o2fesE B8Bowe 5.

wolloe ﬁ;aﬂgﬂﬁsiu
The correct set is :

dmond Sduvorahaln:
(1) a—3, b—4, ¢e—5, d—2, e—1 (2) a—3, b—b, e—4_ d—1, e—2

(3) a—5, b—3, c—1, d—4, e—2 A a—5, b—3, c—4, d—1, e—2
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Match the following :

Set I Set Il
(@) Vant Hoff's rule Body size
(b) Bergman's rule Metabolic rate
() Allen's rule
(d) Jordan’s rule
o8 AN edSSrspnsn

ser 1 “dy I

Development

I S

Organ size

(@) aroff T Mm@ 1. #b6¢ [oSrmsn
(h) aggﬁ:nts' e (& &2 2, &58ch T
(€) B SomSain 3. =058

4.

d) Ed Sro@se sSubSSne  Sosvemsn
The correct set is :

o8 Eakorabae:

(1) a—1, b—2, c—4, d—3

(2) a—3, b—4, c—2, d—1

{3) a—2, b—1, c—3, d—4

M a—2, b—1, c—4, d—3

A sanguivorous, ectoparasitic anadromous animal is :

(1) Eel (2} Salmon

(3) Slime eel M Lamprey

swdy bep, weavg Soefyddm acd ©SHFHS 83 :
(1) & (2) &::%5

@ 25 &S A o

AM 2006 A
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Match the following :

Set 1 Set II

(@) Ductus botalli 1. Oikopleura
(b) Ductus carotians 2. Lepidosiren
(c) Neoteny 3. Lamprey

(d) Anadromous 4. Lacertilia

(e} Amazon 5. Uraeotyphlus

Bod &30 wéﬁ:ﬁﬁaﬂm:
ﬁgﬂ' | :&ﬂ;! I

(@ &35 &%e8 1. LowSTsHoe
(b) &35 36°25% 2. TRE"RO8
{e) RéEEn 3. oo

(d) oo &F5S 4. o*3boawe
(e) emed 5. crl@rdgt

Correct set is :

memond SHduardbas: .
‘é a—b, b—4, e—1, d—3, e—2

(2) a—=b, b—1, c—4, d—3, e—2

(3) a—>5, b—1, e—4, d—2, ¢—3

4) a—4, b—1, c—4, d—2, e—3

A snake is identified to be having large hexagonal vertebrals and the dorsal surface
bluish with narrow white streaks, it is :

(1) Echis carinata > Bungarus coeruleus

(3) Vipera russelli (4) Hemibungarus

D8 26w SPwdy Hdak: JoF IyRSesnE® SH e Jpad S
HeBowrds. G aedn

(1) 285 webFer T ol LErbash

(3) sxyéd 36 (4) TrwomrsHS

The water soluble protein associated with silk thread is :

(1) Fibroin W Serecin  (3) Chitin (4) Mucin
Sen cOIn8® Sowofsn DA ALE* gom @l :

(1) Purans J 2ebE  (3) 388 (4) sreghS
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The cranial nerve that goes to the external rectus muscle is : .
pedieg BES Yodorok B8 e ol

) 11 @ I (3) VII v VI

The following are the branches of dorsal aorta :

[. Intercostal

II. Phrenic

1I1. Coeliac

IV. Anterior mesenteric

V. Posterior mesenteric

Of these which set of arteries supply the blood to the glands of digestive system :
(1) I and II III and IV

(3) IV and V (4) II and III

go \Sob3 a‘:@,a:, St o). Tepe

I Lonmrosy

II. Sggans ()

IIl. &858

V. §rd; so@ddrey

V. 8¢ so|8Gimul

W8E* @ e B¢ S Hodbg SR SEHo Do

(1) 1 SHéass II - b Il S6aks IV
3) IV &bass V (4) II &s:8a% III
Phallomeres in male Periplaneta arise from :

(1) 8 and 9th sterna (2) Tth sternum
(3) Bth sternum # Oth sternum

S ROFRrE® SRl 82 %ol @SS ¢
(1) 8 SHocn 95 a&s Feso () 785 a8y Feso
(8) 85 ass PHeldo w95 @l Feso

The enzyme employed for amplification of DNA during PCR is commercially obtained
from :

(1) Streptococcus pyogenes (2) _ Bacillus licheniformis

(3) Trichoderma reesi " Thermos aquaticus

PCR So&: DNA 0233588 858 o8 2088 ocdaglfor 80 Kol
B oBE ; &

(1 e 245%58 Saueddy (2) wrhel B80S

(3) ‘EQ‘EG-% 5% ot S505 28858
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Hormones have the following features :

[.  Adenohypophysis produces gonadotropins.

[I. Besides sex cells, hormones are also produced by testis and ovary.

[II. Testosterone is produced by Leydig cells.

[V. Estrogen is produced by ovary.

Which of the above factors influence secondary sexual characters ?

(1) I and IV (2) I, 1l and IV \

(3) 1II and IV A All

FE° % He 808 eofcred: FOA ok

[ <45° 225308 ﬁ'mﬁ’@*!&ér‘iﬂ adydio Taiud

I Besecned my, s H0ab & Deftyan M6%I58 adfo Sums
[II.. £4F Sorew 1.;'3: ?;*msft’q & do o,

IV.
T 6T 2D 638k BohY ofmrod |Hgrddo Don?
(1) [II1 se8ase IV (2) II, III &bass IV

(3) II sdesw IV AT Fug s

| Yoy

Bes®yae aﬁ;mEm advio daud.

[a1]
o

Identify the correct pair of birds with a raft-like keel and lacking preen gland
and syrynx :

(1) Tinamus an Apteryx (2) Rhea and Dromeous

##" Casuaris and Struthio (4) Kiwi and Rhea

D 80 5D HOA (BS Hod Hoak ¥BD SPLodI SN Spe eds
28 ool ¢

(1) Sl oo ok, (2) Botre HBafe |G Roanl

& eS8l Sba Smfare (4) 82 Hbctn Bagrm
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Release of vasoactive mediators during hypersensitivity is associated with :

Type 1 (2) Type II

(3) Type III (4) Type IV

EERINLISET PSS ddhely Ldse A28 Howolol ook :
2 1 @) B

@) =& I 4) B IV

A bald headed (Bb) man marries a non-bald woman (Bb), their progeny if all are
females, the probable bald to non-bald ratio in their progeny would be :

wEde S (Bb) speosod: ST £o (Bb) aﬁ Jaesedrdm Q688 Soerddons
e ®ondS’, Soerddnd” wede Hbak cede €1 &8 DY dodw

aodddnd !

(1) 1:1 (2 3:1
" 1:3 (4) 2:1
71, Match the following :

Set I Set 11
(@) Atomic plant 1. Dioxin
(b ' Cadmium 2. Minamata
(¢) Hg 3. Mottled enamel
(d) Flourine 4. Kidney necrosis
e} PVC 5. Heavy water
Sl A0 ssSrdpnss

S8y 1 Sdy II
(@) wos Sooyress 1. .:Sai'b;'.;};%
(b) =&yato 2. S
(¢) Hg 3. mose avud
(d) %:55 4, Srmslogro §m6
(e} PVC 5, =8 sedy

The correct set is :
Slmond XScordha:

A0 (a)—5, (b)—4, (€)—2, (d)—3, (e)—1

(2) (a)=—5, (b)—2, (c}—4, (d)—3, (e)—1
(3) (a)—4, (b)—5, (c)—2, (d)—3, (e)—1
(4) (a)—4, (b)—5, (e)—2, (d)—1, (e)—3
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The total number of progeny obtained from a dihybrid cross is 1280 in F,
generation. How many of them are recombinant ?

Fo €° 835088 So¥dm avaoe Dhd Soeedsn 1280 wondS* o8 Mob
HIFYorETRrE BoSHEH?, i

(1) 240 (2) 360

W 480 . ) 720

If the blood group of a child is ‘A’ and that its mother’s is ‘B', then the genotype
of mother and father may be :

w8 IS OF 500 ‘A Sl 0 ¢F Joo B aq)St Sboode vy drdres
f QPSure GoaIING

(1) BBx AA (2) ABx AB
(3) BOx 00 W BO x AO
Match the following :
Set [ Set I1I
(a) Chargaff 1. Wilkin and Franklin
(b) = Replican 2. Uptake of lactose
(¢) Permease 3. hn RNA
(d) Split gene 4. Length of DNA
{e) X-ray diffraction studies 5 A+G=(C+T

B0 =22 s&Srmdna ¢
EQE I sdy 11

@ o 1 96,5 & 3088
(b) BLwS 2. o588 Soyidem
(c) -‘:‘Sﬁ@ﬁi:é’ 3. hn RNA
(d) ¢'¢:h&§ sgpe 4. DNA g8

5.

) X-30m JITS eoFgabare
The correct set is :
00 ol oraihau:

A+G)=(C+T

o (a)—5, (b)—4, (c)—2, (d)—3, (e)—1

(2) (a)—5, (b)—4, (c)—1, (d)—3, (e}—2
(3) (a)=>5, (b)—4, (c)—2, (d)—1, (e)—3
(4} (a)=5, (b}—1, (c)}—2, (d)—3, (e)—4
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In a population of 278, if observed number of ‘MM’, ‘MN’ and ‘NN’ blood groups

is 78, 138 and 62 respectively, what would be the frequency 'of ‘M’ 7

278 50AS worged® wateuwa‘. ‘MM’, ‘MN’ S8aiz ‘NN' © 65 Jore dom

S 78, 138 SHfakn 62 wondSh M Guyy HHIoSe Jo8 dowos?
0.532 (2) 0.499  (3) 0.468 4) 0.283

Identify the correct chronological sequence periods of Mesozoic era :
Carboniferous —» Permian — Triassic - Jurassic - Cretaceous

(2) Cretaceous— Permian— Jurassic— Carboniferous— Triassic

(3) Cretaceous— Carboniferous—» Permian— Triassic—» Jurassic

{41 Carboniferous— Jurassic— Permian—+ Triassic— Cretaceous

AeFreronf & Seany dhme Sbeosd EaC LT S Yoo :

Eﬁ&"\.’&?.}d«. — A5 e lbo prorlbo BRRah

(2) @1:1:75.};\}—? S0 cﬁ%ﬁ-—r e ibo BENIER @ hE

(8) BRUHE— 2E YN BEE ﬁﬂéiﬂrh—b a5 woehE

(4) =6 0 BEE— Hﬂ'mgﬂ a0 warhE-s otk

s

The juice containing sodium glycocholage is released under the influence of :

Ta.

(1) Secretin Cholecystokinin
(3) Enterogastron (4) Enterokinin
F&aio [ 5%ES ¥0S g &5 |Eoedand D&Serd :
(1) »Hses 5%052°308
3) 2086°mEE (4) 2086%5D8
Match the fol]-::-wing :
Set I Set 11
{a) Basophils 1. Phagocytosis
(b) Neutrophils 2.  Inflammation
{¢) Plasma cells 3. Blood clotting
(d) Thrombocytes 4.  Antibodies
Bod 00 wESonEy
ﬁg! I ﬁIEE' 1I
(a) B 1L gfs ($ARELE)
(b) oogemddy 2. asSgdas
(c) "'*EF& Soeew 3. 0¥ &possan
(d) |erod* e 4, S8dgrw

The correct set is :
Ghemond pd:

M (@2, (b1, ©)—a, (D)—3 (2 (a)—2, (B)—1, {c)—u, wr—s
(3) (a)—1, (b)—2, (c)—4, (d)—3 (4) (a4, (b)—1, (c)—2, (d)—3



Match the following :
Set I
(a) Scylla tranquibarica
(6) Oidium albicans
(e}  Gracellaria
(d) Anacones
(e) Hypopthalmichthys moltrix
808 &R wESEENSD
ﬁﬁ!’ I
(@) Der |erolzuaedee
(b) box8atd obyEdy
(€) |roBoawe
(d) eSS,
(@) * DL I~0 85
The correct match is :
HNlwony Hanordbdw:
(1) a—3, b—4, ¢—2, d—1, e—5
(2) a—4, b—3, c—2, d—5, e—1
(3) a—3, b—5, ¢—2, d—4, e—1

A a—3, b—4, c—2, d—5, e—1

Set 11
Silver carp
Agar
Green crab
Thrush
Mediterranean bird

o LB e

24y 11

beab mby

sl

08 08

B

Sgggoe @‘-?6@ &8

=L I -

20.

The anaphase promoting complex is activated by :

.A'f M edk eyelin

(3) S cdk cyclin

(2) Gy edk cyclin

(4) Transcription factor

So¥ S5% @EElrod Sofide 6D adfodmdd

O M cdk 285

(3) S cdk 288

4) s&ded sd¥sn



